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4 The mean average rainfall of Claudona for August is 48 mm with a standard deviation of 6 mm.
Over a 20 year period, how many times would you expect there to be less than 42 mm of rainfall

P<3<< %Z> =1,

during August in Claudona?




September 21, 2017

T

OWLC) reco ra on
hew

ofo

\()0 x| °\ \Ol a .
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Consider the function f{x) = , where a is a positive constant and x > 0. The diagram shows a
sketch of the graph of £ The graph intersects the y-axis at point A and line L is its horizontal asymptote.
gl
— 15 = & q
- 0
—o 12 —’q 7

(a) ﬁnd the y-coordinate of A. 2(0\ C

@

[
) E
The point(,%, 1) lies on the graph of y = f{x) | = — O - "ZS
(b) Calculate the value of a. — A A+ L’ZS
1 - EE .
(c)  Write down the equation of L. t
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The graph O.f the quadratig function f{x) = 3 + 4x — x* intersects the y-axis at point A and has its (& = 6‘”“_ X
vertex at point B, (2 ¢ 2

) X2 %K + D

B

(0,3

/
(a)  Find the coordinates of B. ~< (Z
=) Wty \,

Another point, C, which lies on the graph of y = f{x) has the same y-coordinate as A.
a\so

® () Plotand label C onthe graphabove. ¢ NOR A Y- wiue sT 3 4ine- e
y-inreicept oF pont A 12 3

(ii)  Find the x-coordinate of C.
(4.%)

0= 4)(7)_‘2
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Factorise the following Quadratic, f(x) = x*-6x + 8 g (X AK\& )

200" <26 label with the coordinates, the
rtex. Mark on the axis of symmetry and label it
the corresponding range of the function.

Plot it on the axes below for the
zeros, the y-intercepts and the vel
with the equation of the line. State

Where is the vertex of the function f(x) = (x—5)* + 6?

(», ©

(syaew 9 ej0L)




September 21, 2017

@ o \Given f(x) =k x 2*and f(2) = 24, what is the value of k? 1=
when K<Z y=T4
b . Given g(x) = 2% _ 1, what is the equation of the d the coordinates
of the y — intercept y=- |
30 ) nref‘(efl
(o,

C.  Ifthe diameter of a tree is givén by d = 3.5 x 2.4%" , where t is the number of
years after planting, find

a) The diameter of the tree whgn it w>as planted

her _ -
WD g 5(2.m) .

lj-:: GK'LJX

b) The number of years it takes for th dlamet%figlnp ‘5
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f(x) is a linear funcuon witn gradient 3 and y — intercept 2
Plot these two lines on the grid below for the domain(=4 = x sTand state the
coordinates of the intersection of the two lines and the range of the functions.
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Today:

Collection

o See your test on Unit 2

e Be sure you have read about Data

. Continue with Normal Distribution
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From last class:
Be able to construct diagrams

of Normal Distributions

K"Bc“ Curve"
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It is possible to utilize Normal Distribution in your IB Math
Studies project if you like, BUT you would have to have data
that is at least somewhat likely to be accepted as normally

distributed.

Ve se.a.\'c"\. -0
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Uhat 15 the probobility of
b@?r\g less than “11.D
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HH - Ch. 10 Packet.....
a) Study pp.300-301

b) do problems on p.303.... 5, 6, 9
and p. 307.... 1, 4, 7

use good notation
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Correlation Coefficient, r

The quantity ¥, called the linear correlation coefficient, measures the strength and the direction of a linear
relationship between two variables. The linear correlation coefficient is sometimes referred to as the Pearson
product moment correlation coefficient in honor of its developer Karl Pearson.The mathematical formula for
computing r is:

ny, - (ZX)(Z )
() (=) r(T0)-(Z )

r=

(Aren't you glad you have a graphing calculator that computes this formula?)

The value of #is such that -7 <r <+I. The + and — signs are used for positive linear correlations and negative
linear correlations, respectively.

r = -1 indicates a perfectly strong negative finear relationship.
r=-0.8 indicates a relatively strong negative linear relationship
r =-0.5 indicates a moderate negative linear relationship

r =-0.2 indicates a weak negative linear relationship

r = 0 indicates no linear relationship

r = 0.5 indicates a moderate positive linear relationship

r=0.8 indicates a relatively strong positive linear relationship

r =1 indicates a perfectly strong positive linear relationship.
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a) strength / direction.
If siong, do (0)
b) Make a statement such as

as the heights increase the calories decrease
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| Result | 1830 31-42 143610 | 62 and older.

j \I 3 (4] o
Willing to buy a hybrid 72 (g?w _7’23.(90 6._’ 0.9 B
Not willing to buy a hybrid o 21 19 21 qoo| TS

o 940 1440 35S

\/ \/ 1. State the Null Hypothesis using good notation. (contingency table is already given)
Ho : Aﬁa and willingness 4o buy a hybeid ove fndQPQnQ\@ﬁT X

n&wﬁ%(u . hae oacy willingrass, Yo buy a hlébt{d are  NeT {ndé}:ﬂﬂdQﬂ >
e Ve Y pe Al Ao fot < .

2. Use your calculator to calculate the expected values. Show them next to the observed values in the table to 2

i decimal places. You don't need to show totals. > /» — ) )
KA X %0 _ 2N,
\/ Show one sample calculation (for one of 1h¢se):e é (8_@7’7 (o—l .3 3 \
R
v 3. State if the test results will be valid and why.

The. 42t will be. valid becawsz 4here. are. 1O Qfm values
less than g
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